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ol 2AY|(XIot£=SE 3 H) 32,504 35,352 N2,848
101 e1214| 32,504 35,352 A2,848
03 2INHALZZHE = 32,504 35,352 N2,848
OXot0I282 U&= 2AHH| 32,504
|22 17,448
-gdd 5,816
—AN2AZ2 2L 3,785
=] 1,560
- WEB XY 1,560
- € EF Ot 1,745
—-xEAZ 590
MR E=(ot2=1) 2,700,806 2,096,262 604,544
= 190,000
Al 2,510,806
=PSPNE 2,251,863 1,647,319 604,544
= 190,000
Al 2,061,863
ot Xl XNRSAE X2 A4s(22) 185,600 185,600 0
= 185,600
601 Xl S S atst 185,600 185,600 0
= 185,600
B ELEEXNLZ2ASAE 185,600 185,600 0
Obdlzx=&dd Xl XANESAE X2 2 & 185,600
= 185,600




SN BAD
MM YRS (54 D)
ol BEXE CEE-ED
o
S E B (3H) - MBAY - BES O Ak o8 ﬁ}lgﬁ HD=2
ot=Zd Xl NEsAE SX2 AS (0l 4,400 12,400 A 8,000
= 4,400
311 X 20| AHAHE 4,400 12,400 A 8,000
= 4,400
03 SLEEXL 0| AHAE 4,400 12,400 A 8,000
Obdlx=&dd Xl XANESAIE X2 0l X A=t 4,400
= 4,400
St=XHMelAlE AR K AsH(KI) 1,866,668 0 1,866,668
601 X2 A= 4 & 1,866,668 0 1,866,668
05 JIEI=U XY 2 A3 4AE 1,866,668 0 1,866,668
OS5+ HAE DEHAAL % X2 =
=4s 933,334
OsZ220t+HMelAld X XYM 24 466,667
OMEDZolaMeIAE 2% NS 22 4s 466,667
ot=XMelAld AX| XIer A& (0lXH) 34,779 168,463 133,684
311 X 20| AHAHE 34,779 168,463 AN 133,684
05 JIEFXH 2 0] XF A&t 34,779 168,463 133,684
OftSstaHalE DEHAANL S5 KL O
NSRS 1,866,666,670& = 2% *~ 170/365 17,389
OUHEZZotaMelAlE SX XYM O KA S
933,333,340 * 2% * 170/365 8,695
OMEDZolaMelAE SX XYM O KA S
933,333,340 * 2% * 170/365 8,695
SISXF ot HH SE22IXE AIEHAFS XA 160,416 160,856 N 440
A (01 RH)
311 X 20| AHAH & 160,416 160,856 N 440
01 Al - & - FXENLI S XY 20| KHAHE 90,000 90,247 N 247
OHSXT SGHLEEHH SHHUNY AlHAY
el 2 0Ol Kpakst 3,600,000,000& * 2.5% 90,000
03 SLHEXL 20| XA E 70,416 70,609 A 193
OSSN StaEXH SHB2ANS AIHAY
el 2 Ol Kpakst 2,400,000,000& = 2.934% 70,416
WEHAH X = 248,943 248,943 0
SIILEEEIH SHNESE 248,943 248,943 0
701 JIEI HSHEZ 248,943 248,943 0
02 BIILELEIIJHINTEZ 248,943 248,943 0
OZolAY Bd (42l ed 4Y) 248,943
WEHHX S (Kot=EY3H) 200,000 200,000 0
HEHAHX S (Kot=ELEH) 200,000 200,000 0
701 JIEIS HSHEZ 200,000 200,000 0
02 BIILELEIIHINTE= 200,000 200,000 0




2AM: ot%=1

HM: HRES(ot=1)
Sl LHEHHX S (XIotE=SE 3 H) (2 &HH)
x 5 - 4
SA BB (SH) - NRAY - B Ol At o %Eﬁ HRE2
ORXlots=g A olAHH| 200,000
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